
 
 

 

Aufnahmetest Mathematik, Lösungen 
 
1. a) 481 276   b)   1 330 665 
 
2.    
a) 2500m b) 0.3cm 
c) 400kg d) 250cl  
e) 510s f) 25000m2   
 
3.     4.   5.   6. 
5:49h    -6°C   9526   aus 30 Würfelchen  
 
7. 
a)  A ist 120cm2 gross   b)    B hat 84cm Umfang?  
 
8. 
6 Flächen, 8 Ecken, 12 Kanten 
 
9.      10.    11. 
600km    12 Tage   60° 
 
12.           13. 
a)              b)     a)   7/16  b)   3/4 
 
 
 
 
14.      15.    16. 
8 Gummibären    a)   angenommen   6km  
         360 JA /340 NEIN  73.5 Minuten  
  b)   20 JA-Überschuss 
17.       18. 
 
 
 
 
 
 
 
 
 
     19. 
 
 
 
 
 
20. 
S < E < F < H  oder  S < F < E < H 
 
21. 
11/12 
 
22. 
6 Ringe      
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